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Question:

Twizzler enables applications to directly access NVM. Explain.how the Twizzler designers applied the "Make
the common case fast, and the rare one merely correct” principle in this context. Make sure you state clearly
what the assumed common/rare cases are, and how Twizzler handles them. Will Twizzler always outperform a
conventional kernel, where each access to storage is mediated by the kernel?

(Write your answer inside the box below. Anything outside the box will be ignored. Your answer can have at
most 10 sentences.)
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(You can use this page for scratch notes. It will be discarded prior to grading.)
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